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Note : Attempt five questions in all, selecting at least

one question from each Unit. Question No. 1 is

compulsory. All questions carry equal marks.

izR;sd bdkbZ esa ls de&ls&de ,d iz'u dk p;u
djrs gq,] dqy ik¡p iz'uksa ds mÙkj nhft,A iz'u
la[;k 1 vfuok;Z gSA lHkh iz'uksa ds vad leku gSaA

(Compulsory Question)

1. Write short answers of the following :

fuEufyf[kr y?kqmÙkjh; iz'uksa ds mÙkj nhft,A

(a) What is a cheque? How does it differ from a bill

of exchange?

psd D;k gS\ ;g ,d fofue; foi=k ls dSls fHkUu gSa\

(b) What is meant by noting? What are its contents?

uksfVax@fVIi.kh ys[ku ls D;k vfHkizk; gS\ bldh lkexzh
D;k gSa\

(c) Explain the rights of a retiring partner under

partnership Act, 1932.
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lk>snkjh vf/fu;e] 1932 ds vUrxZr ,d fjVk;j@fur`r

gksus okys lk>snkj ds vf/dkjksa dh O;k[;k dhft,A

(d) Explain objectives of information technology Act,

2000.

lwpuk izkS|ksfxdh vf/fu;e] 2000 ds mís';ksa dh O;k[;k
dhft,A

(e) Write a note on ‘First Appeal’ under right to

information Act, 2005. 5×4=20

lwpuk dk vf/dkj vf/fu;e] 2005 ds vUrxZr ^izFke
vihy* ij fVIi.kh fyf[k,A

UNIT–I  (bdkbZ–I)

2. Explain the ways in which parties to the negotiable

instrument are discharged from their liabilities.15

fdu rjhdksa ls fofue; lkè; ys[ki=k ds i{kdkj vius
nkf;Ùoksa ls eqDr gks tkrs gSa\ O;k[;k dhft,A

3. What is meant by endorsement of a negotiable

instrument? Explain different kinds of endorsement.

15

,d fofue; lkè; ys[ki=k dks cspku djus ls vkidk D;k
vfHkizk; gS\ cspku ds fofHkUu izdkjksa dh O;k[;k dhft,A
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UNIT–II  (bdkbZ–II)

4. Can a minor be admitted to partnership? If yes, what

will be his rights and liabilities during his minority

and after he has attained majority? 15

D;k ,d voL;d dks lk>snkjh esa lfEefyr fd;k tk ldrk
gS\ ;fn gk¡] rks mldh voL;drk vof/ esa rFkk O;Ldrk
izkIr djus ds ckn mlds D;k vf/dkj rFkk nkf;Ùo gksaxs\

5. What is the procedure for the registration of a

partnership firm? Also explain the consequences of

non-registration of a firm. 15

,d lk>snkjh iQeZ ds iathdj.k dh D;k izfØ;k gS\ ,d iQeZ
ds iathdj.k u djokus ds ifj.kkeksa dh Hkh O;k[;k dhft,A

UNIT–III  (bdkbZ–III)

6. What do you mean by Limited Liability Partnership?

Explain the characteristics of limited liability

partnership. 15

,d lhfer nkf;Ùo lk>snkjh ls vkidk D;k vfHkizk; gS\ ,d
lhfer nkf;Ùo lk>snkjh dh fo'ks"krkvksa dh O;k[;k dhft,A

7. Explain the procedure of conversion of a partnership

firm to limited liability partnership. 15

,d lk>snkjh iQeZ ds lhfer nkf;Ùo lk>snkjh esa :ikUrj.k
dh izfØ;k dh O;k[;k dhft,A
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UNIT–IV  (bdkbZ–IV)

8. Write a detailed note on Cyber Appellate Tribunal.

15

lkbcj vihyh; U;k;kf/dj.k ij ,d foLr`r fVIi.kh fyf[k,A

9. Explain various informations which are exempted

from its disclosure under right to information Act,

2005. 15

lwpuk dk vf/dkj vf/fu;e] 2005 ds vUrxZr ftu
lwpukvksa dks izdV fd;k tkus ls NwV nh xbZ gSA mudh
O;k[;k dhft,A


